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000000000000 00000000000000000D0D0000 (standing accretion
shock, SAS) 0000000000 OOODO RO200kmOI00000O0O0O

O00O0000o0ooooooo sASOopoooOoCooooOoOoOooooooooooooo
gbboobobuobbooobooobboobbuoooboboobbuoobobooboboo
gbooboboobooooooooobobobooooboobobooboooboobobobon
00 ~10¥erg00000000000000000D0D(0DD0O0OOD)000000000O0
gboboooboobooobboooboooobobooooboooobobooooboobooobooboo
0000000000000 00000000000000O00000OWison (M983) 0000
gboobobooooooobobobgboboobobobooooboboboboobon
gbobooobboooboobooooobobooobooobbooobbooobobboooboo
gboogooobooobooobooboboboboobobon

000000000 ~108erg00 0000000000000 ~1%0000000000
00000000000 ~10erg0 000000000000 000O0O0OODODOODODOOO
00000000 ~1%000000000000000000000DO0DO0O0OOOOOOOD
gbobooobooobboobboobobooobboobbooboboooboooboo
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Cooling region
Heating region
v %

radius Neutrinosphere :
radius

031 000000000000D0000000D0000000D0 (proto-neutron star, PNS)
ooo0oooooooooooooOo0 R, Ud00ooooOOOOOOOOOOOOOOOO
oooooooooooooooooOo0OD00 RsODODOODOOOOOOOOOOOOOODOODOD
O000000000000000000000000000CCO00OOOO0O0O0O00O00O00O000O0
0000000000000 0 (0000000000 0) 0000000000000 o00n
0000000000000 0000000D0 (0000000000 00) 000000000
000000000000 R,0000

gboooboboobooboobbooooo
oooooooooooooO00000000000000 R,O0000ooooooooon
gbobobooboooooboboobooooboobobobooboobobobobobobon
gobooobooobobooobbuooobuoooboobobooobooobboooboDboo
gbooboooobobooobobooobobooobobooboboooboobooobboooobooboo
gboboobobooogEmooboboobobooboboooboboobobooono
goboobooboboboooobobboooboboo RsO0O0ODbO0obOobOOO0bOoOoDOobOobD
00000000 (0o0ob00 R,ODO0ODODO0O R, O0000D)00O0OD0OO0DODDOODODOODN
Oo0ooooo0oooodooooooooooooboooboond R,O000000000oo
gboooobooboobboobooboobbooboobooboooooonooo
gogbboobobooobboobobooobooobooobboobbooobooobo
goooogoogobobooooobouooobobobobob =sbo-100bO0obOobobo
00000000000 O0(10)0000000000000000 Uanka (2000) 00 00O
gobooboooboboobboooboooboooboboobbooboobooooboooobon
gboboobbuooobooobbooobboobboooboooobboobboooboo
gbbooobobooobbbooobboobboooboboboobbooobbooobboo
0000000 e, 0000 P=PFPx+P. :%a7T4DDDDDDDDDDDDDDDDDDD
4/3DDDDP:/$/)4/3DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
0000000000 dP/dr=—-GMpnsp/r?00000000000px 200000000
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000000000 pxT30000Txr t0000
0000000000000000000000Rankine-Hugoniot 000000000000
W 000000dO0000000000

Pullu = pPdUd (33)
Py + put? = Pyq+ paud (3.4)

1 1
“ulfhy—qn = =ud+hg (3.5)

2" 2
O0000000A=(P+e)/p00000000D00e00000DO00O0O0wODO0O0OODO
ddddtbqgUoooooooooooobbooooooooooooooooooo
O0Pi>»P,0Ohg>h000000000DO0O0000000000000O0O0O0OOOOODODOO
0000000000000 000 P=¢/30h=4P/p00000000000O0OOOOOODO
oo )

pd Qupu

E27+?u (3.6)
0000000000000 00000000O00D0O0O0O00 OO0 00y=4/30000
dododoboooouooooooboooouoooouooboooooooooooboon
goddobodoootbooobuooouooouoooboooooooouoooooon
ddddddodooddooooooooooUooUoUoOooooooOooOooOoooOoooooooooo
0000000000000 B00 vedtne +p00 800 dtpret+n0000000
gddodoodbooboooooooododooooooooooboobooooooooa
0000000000000000000 L, =rR2a,ci00000000000000R,,
DDDDDDDDDDDDDGV:%aVDDDDDDDDDDDDDDDDDDTVEDDDDDD
dodooooooooooooooboboobooobobooooooa qiDDDDDDDDDDDD

gbooobooboobooboboobo-00boon

+ Ly.ov (Ty,)Yn

~ 3.7
v 47r? (3.7)
0000000000000y, 0oodoooooooooooooooooooooon
3a2+1 €2
o (T) = 22 H 15 ) (35)

4 0 (mec?)?

000 7T000000000000000000000000000000000000000
000000000000
a=126 (3.9)

000000000000 0e 00000000000 DO0ODOO (0 (eE3w0o00ooooooo
000000000 0000000000)0mec®=0511MeVOOO000000000000O0O
(yOOOO -O0ODO0O0O0O0O0O0O0OO0O0O0OD0D0ODU0D0DO0OOOODOODODOOODODODOOODOoODOD
O Fermi-DiracOOOD0OO0OO00OO0ODOOODOOOO0ODOOODOOOOOOODO

() = T (T )? = 21 (T (3.10)
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00000000k O Boltzmann 0 0O O

1 o0 n
Falw) = I'(n+1) /0 exp(t —x) + 1dt (3.11)

000 Fermi-DiracOO0OIN(z) 0000000000000 OOOOOOOOOOOOOOODO
00000000 (boooooooooooooo)o

%, = v, (T)aycT*Y, (3.12)

00000000¢, 0000000000007, 000000000000, 000000
0700000000000000006,(T)x7?2000 0,,(T)/0v.(T,.)=T%/T200000

00000000000
_ 2r \? /T \°
W, = Gy = G, {1 - <Rue> <Tu) } (3.13)

gboboobobooobbooobboooboboobobooobobooooboboooobooo
gboooboobooobooboooboaoboo

-1t (3.14)
T

gooo0o0oob0 7000000000000 ooooooooooooooooogoonDg

(2R)% [ Ty \*
R, = =5 3.15
g \/ Rz/e Tl/e ( )
0000000000000 0000000000000000 kT, =4.8MeVOkpTy = 1 MeVO
Ry =200km0O R,, =80km 000000 R, =85kmO0000000000 Ry =100km 00O
ooo
00000000000 0000000000000000000000000000000

00000, (T) 0000 opacity O Ky, abs = 00, (T)Ya/m, 0000 0000000000000
0o

R 2 2 R
s 1 Yl’l S
T:/ Sa”+1 oofe) Y drp (3.16)

dTﬁye,absp = 2

Ry 4 (mec?)? my Ry

0000000D00000000000000000000 pxr30000000000000
goboobobdooobooobobooobbuooobooobooobboobboooboDboo
M:47rR§|Uu\puDDDDDD 0.1My/s0000000000O0, 0000000000O0OO0O
0000000000000 0 Mpns ODDODOODODDOOOOOO vy = —+/2GMpns/Rs 00
000000000000000000000 py~pq/l10000000pxr 30000000
0000000000000ps0000 p=pa(Rs/r)?000000000000000O0DO0

00
5 MRY?

p:
2ﬂ\/2(¥A4%§%r3

(3.17)
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gooooooooooooooooboooobooboboobobogooon

ksTy, \> M Re \*?( R, \}/ M
7~ 0.035 [~ g PNS (3.18)
4 MeV 0.1 Mg /s 200 km 100 km 1.5 Mg

gbooboobobobobUooboboobobOobDboboboobUobobbUobDbUuboD RO
00 o000O0000000OO0ODO0OOO0OOO0ODODOO0O0OD0OOOODOOOODO%0O0O000
gboboobboooboboooboooboboobobooooboobobooooboooobooo
000000000000 ~10¥%eg000000000000000000000O0OOOOO
000000000000000000000D0000 2x10%2erg000000000O0O0OO
00000000000000000000000000000 ~10%erg0 00000000
googon

goboboooboboodobboobobooobbooobbooboboobbooobooobon
gbobobobgooboooboooboobobobooboboboboboooboobobobon
gobogoooobooobbooobooobboobobooobbooobboooboboo
gbobooboooboboooobobooboboobo qjeDDDDDDDDDDDDD
gboooooogoo q,};(DDDDDDDDDDDDDDDDDDDL,,E%L,,;DYH—)YPDDD
O00000)0ooo

M,
Q= (0, +a) = (3.19)

u

0000000 MOOO0OO0OO0OO0OO0OO0O0000000000000000000000000O0
gbobooboboobobooobooobboobbooobooobooobboooboboo
gbooooboooboooobooobooon

Ly,o,.(Ty,)
4 + v Op\Ly,
I (3.20)

gbooooooooooooooooooooooooooooboooooooon

ks, \ > L M R, \ 2
+~9.4x 107 Bve Ve g g 3.21
v <0 ere/s (v ) \3x 102 ergss ) \o01 025 ) \ T001m (3:21)

gooooopoobobobobob0obooobooooboboboboboboooOngd tawen
ogboooooo

. —1
M, M, M
tawell = —= = 0.1 & 3.22
dwell = "y S(0.011\4@) <0.1M@/S> (8:22)

gbogoboobooboboob olsbbooboobboooboobbooon

kT, \ 2 L
E=0Qft ~ 9.4 x10% ve ve
@y fawen <A0%ere/s { v ) \ 3% 1072 erg/s

. -1
M, \? M Ry \?
3.23
X<O.01M@> (O.lM@/S) (100km> (3:23)

0000000000000000000000000000 20-30%000000000000
0000000000000000000000000000000000000000000
000000000

0000000000000000000000000 Qf/(Ly, +Ly)~0.160000 (3I8)
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gboboboooboobooooboobobobooboboboboobobobobobobon
gobooobooobboobbuoobboobboobbooobooobboooboboo
Ooooooood M,O00O0000oo0o000oooooooM, 0000000000000
gbobodobbuooobooobboooboboobbooobooooboooooboonboboo
0000000000000 00000 BE3) 0000000000000 ooooooo
ooooooooog

3.3 Uuooon

BE20000000000000000D000 Wilken (T9R[) 0000000000 0OODODODO
0000O00O000o0bO0bO0oOooo0bOobOOobOOo0DoobO0obOOoDOooDoOOobOoDOOooDo
O (Liebhenddrfer_ef all 2001, Rampp and Janks 2000, Sumiyoshi et al] 2005, [l'hompson et all
o) 0 000000000000000000000000000000000D0UDoODOOO
0000000000000 00000 (Ktanraefall 2006) 0 00000000000 0OO0ODO
0000OOooOoOOooooo0boooDo0ooodbOobOOooDo0oo0bOobOOooDooooooDoOooDa
000000000000 0000000O0D00O00000000000D00D000 Herant_etall
(92) 0000000000000 0000000000O000O0DO0O0DLODOO0OOO0OD
000000 bOO00o0DbO00o0oOo0o00ooOoOOo0oDbO00ooOo0oooooOoooOoooDooa
00ddbOooobdoOooooDooDoobOobOobOO0obOOooDoooooDooobOoooooOooDa
O000000000000000000000 (Blondinetall 2003) 000000000000
000000000000 00000000000000 (standing accretion shock instability,
SASI)DOOOO0OOSASIO00OO0OO0Ooo0ooooooooooooooooooooooo
0000000000000 0o00DOoo0o0DOoOOo sSASI0DO0oo0ooooooOoooon
00bOod0ObO00o0obOo0o0oobOo0o0o0ooObOO0o0oDbO0oooDbOOoOoobOoOoOoobOOoOooDoOoa
ood

3.3.1 0O00O0O0O

0000000000000 0000oD0DOO0O0O0O0O0O0O0OD00O0000Wilson (T985) OO
O0000o0odooobooooo0oooooooooooooooooooooooooon
0000000000000 00000000000000000000 Schwarzschild O 0O O
00d0d0d0ooooooooooooODoD0O00dd0gdOdg LedouxdOOoooooooOOO
godoboootuooouooouooboooooodobou z00b00ooooooog
000000000000 oobobobobobobbobboDbDn
0000000000000 00000000O000000000000000O00000 p(2)0
Sz)Ou(>) 000000000 200 z2+A20000000000000000000000
0000000000000 z+Az000000000000D000000O0O0DOO0O0OOCOOO
O0000000000000 p(2)+A,qp0000000000000C0O00O0OD0O p(2) 4+ Agurp
0000000000 —¢g000000000000 —g(Asap—Aewp) 10000000000
dododoboodouooooooooouobooooooooooooooouooon

0 dP
Aa,dp:<a;>sﬂudzAZ
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goooooooooon

ap dP ap ds op du
Agmp = | =5 —A - —A — —A 2
P <8P)S7u dz aF <8S>P7M dz ar <8,u ps dz ‘ (3:25)

gboogbboobogboobo

op ds ap du
— — — — A 2
(), 5+ (3),.. ) 629
0000000000000D A>0000000000000000
op ds ap du
L) 24 () =2 2
<85>p,u dz*(au)p,s az " (320

000000000 Ledoux 0000000000 000000D000000OO(0p/0S)p,<0

gboooobogooo
ds

dz
O00000000000O000000000000 SchwarzschildOOOOOODO
gooobooobooboobooboobooboooboboobooboboobobbon
gbooooobooobooonoog

<0 (3.28)

d?Az opdS Opdu
— P PR A 3.29
Prae =9 (85 P op dz ‘ (3:29)
O0o0ooooooooooo NO
_ |9 (9 §+ 9p du (3.30)
P a8 Py dz ou ps dz
0000000000000 00000000000000000 Brunt—VaisalaOOOOOO
goooon
ap dp Op
dp = <> dsS + <> dP + ( dp (3.31)
95 ) p, oP) g, o) ps
0000000000 0O0O0O0OO
9p a5 _dp (0p P _dp p dP (3.32)
a8 Pjudz_dz oP) g, dz  dz ~Pdz ’
goon
gdp g dP
N=,|2X - 2= :
pdz P dz (3.33)
0ooooooon
Jdln P
Olnp ) g,

goog
gboogooooobobgooooooboboboboooboooboboooboob
goboobgoobobobobboobooboobobobooboboboboobobboboo
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0000000000000 Ledoux O Schwarzschild 0 0 0 O O O O Foglizzo et all (2006) O O

ood xooooo

Y= /ShOCkNdZ (3.35)

gain Uz

godoooooooooooobooooo (DDDDDDDDDDDDDDDDDDD)/(DDDD
DDDDDDDDDDDDDD)DDDDDDDDDDDDDXDDDDDDDDDDDDDDD
O00ooo0ooooooooooooboooooooooooooooooooooboooono
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD/D
DDDDDDDDDDDDDDDDDDDDDD()DDDDDDDDDDDD
goooooonouood yooobooooooooobooooyoooooooogooooao
0000000000y R3000000000000000O0000OO0OOO0OODOOOOO
x> 1000000000000 o00oooo 10000 30000booogobobooogn
ogoooooooooooooboooooboooonooooooooooboooboooo
goood xyoooooooooooooooooooooooo

3.3.2 UU00OoooOoooon

1000000000 o0bOo0oodnooooooooooooooooooooooo
0000000000000 odDOoDU0odoU0oOobDO0DODOoDOooUOoOoOOooDOooDOooDOon
00000000000 00o00o0o0DOo00o0o0DOo0o0oOoDoOooOooOosSASIODOnon
(Miiller_et all 2012a)0

SASIOD 0000000000 oOooOdDOo0oOodDOoobdoDOoooDOOoDoOoDoOoooa
0000000000000 0000000000000 (Foglizzo 2002)0 Blondin“et all (2003)
O0000000000000000000000000D00000D0DODO0OBIondin et all (2003)
000D0O00O0oOoooo00odoOooDoooooobDOooDOooDoooooooOooooon
0000000000000 0000000000000000000000000000000
(Blondin and Mezzacappd P007)0 SASID 0 0000000000000 BE2000000000
0000000000000 00Do0D000o0oU0o0DO00o0o0OoOoOoOooog SASI
OsloshingOOOOOOOOOOODODOOODODOODOOOOOOODOODOODOOOOOOO
000000000000 00D00000 SASIO spiralD 00000000 OOOOOOODO0O
ogoodooooodooodoobd0 -0 -0 -0 ---00000D0OO0ODOOOOODOO
0000000 DO000D0DOO0000D000 Legendre0 OO P,O0000000000O00O00O0 Yy,
0000000 /¢=1,200000000000000000OOsleshingd0 0000000 m=20
O000000Ospiral 0000 m=4100000000000000000000 sloshing
000000000000 0000D000000000D0000A0 sloshingO OO0 spiral 0
0000000000 (makamietall 2002) 000 0000000000000 OOOOOOOO
O00000000000000000000O000 (0 (BEWm@)0SASID 000000 ooooo
O@¢yDOoOOOOOOOOODODODO0O00O00000D0D00000DO0OODOOODODODODODO
0o0o00d0oooOo0doooOdoooooooDoOo0o0oooDoooooDooooo00oDDOOOd
O000000000000000 (Milleretall 2OI24)0

SASI 0000000000000 0oOoOooU0ooDOoooOoooDOoooooooog
0000000000 o0oooU0o0o0bODO0DoOooUOoo0OoDOOoDooOoOoDOOooDOoooOn
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Sloshing mode Spiral mode

032 0O0000O00O0O0O0OO0OOO0OOOO0OOO0ObOObOO0OO0OOOOOobOobOobOObObOO0bOn0n
0000000000000 00000000O0O sleshingODOODODODOOOOOODOO (DO
0000000000000000000)00000000000O0UO00000O0OO spiral
gboogobooboobbooboobboobooon

000000000000 0000000000000000O0000ODO000DO0O000OO
gbobobobobooboobooooboboboobboboboooboboboooobbo
gboboobboooobobooobobooobboooboooboboobboooobooooobooo
gbbobooboboooooboboobobooboboboobobooboobobo
00o0o00o0o000o000ooO00oo0o0o0oo0O00boO00ooO0O0oooO0o0oo
gobooobooobuooobooobboooboobobooobboobboooboDboo
gboboobboooboooboooboboobobooobooooboooboboonboboo
O00000O0O000DOOo0o00DooO00DooO0U0OooOoOOoOOooOoOoOnO SASIoOoon
O00000000000000000000000000000000 (Foglizzg 2009, Foglizzd
ef_all 200G, [Yamasaki and Foglizzd POOR) 000000000000 SASIDOOOOO0OOO
0000000 SASIODOO000O00DOoOooo0oooogooOoo

gobooobobooobooboboobbs3uobibod z—20000000000DO0O0O
0000000 (DboD0)00z000000000CODOD z000D0Q00ODOOOOOOODODO
00000 2, 000000000000000O0D00000O0

B(z) = % {tanh <—ZH_V;§> + 1} (3.36)

U0000O.wO0O0O0O0O0O0 HeOOOUOOUODOODODOD0OUD 20000000 2vy000O
U0 H=zy—ey 00000000 0DO0ODOODOODODOODODODODODODOD

op B
N +V.-(pv)=0 (3.37)
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Zsh 7

v

033 0000000000000000000000000000000000000z—x
00000000000002z000000000 L,0000000000000000000
00000 2,000000000000000 ACO00000000 2900 HAyO0OOOO0O
000000 H=24—-2y000000000000000000000000000 (000
Bernouli 0000000 6000000000000 (5fH000000000000 (6f7)
0000000000000000000100000000000sh00000000000
000000000000 out0000000000000000000000000000
0000 Q0000000000000 000000 Qu0000000000000000
000 RL,O00D0D00000000000 Ry, 0000 Foglizzg (2009) 000000

O Euler O OO

9] 1 2
u+V<2u2+ a1+<1>>+w><u:0 (3.38)
/'Y_

O0000000vOO0OO0OO a=+/yP/p0000~y000000OW=V xuOJOOOOODOD
oo

E?Z(pv) =0 (3.39)

0 [ v? a?
Z = P = 0 3.40

8z<2+7—1+> (340)
DDDDDDDDDUDVDZDDDDDDDDDexp(—i(wt—kxx))ljDDDDDDDDDDDD
0000000 L, 0000000000D0CO0DODO0OO0O00O0 N, 0000 ky =27mn,/L, O
DDDDDDDDDDDDDDDDDDDDDD(DDI:II:I5UD5pD6aDDDDDDDDDDDD
DDDDD5UDzDDDDDDDDDDD)DDDDDBernoulliDDDDDDDDDDDDDD
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000000 (0000 éfO0ér0éS) 000000000 0OODOODODO

1 P Psh B
S=——1 — 3.41
7+10g|:Psh<p>] (341)

gobooooooooodshoboboboboobobobooboboooboooobooooboooo

of = vév+731a5a (3.42)
sho— 0P (3.43)
voop
2 da Op
_ o 2F 44
68 T —1a p (3.44)
RN
o 1 of

P S VE <5h+(5S— a2> (3.45)

op 1 2 of
, = T2 ( M*5h — 0S5 + a2) (3.46)

5a? V=1 (3f )

000000000000 0000M = —w/eO MachOOOOOOOOOOOOODODOOO
Euler OO OO zO000O0O

a5f  iwv | 5S 5f
_ ht (— —1 _o 4
0z 1— M2 {5 + <./\/l2 +7> v a2} (3.48)
gogoon )
oh tw wey \ 0.f 9 kg o K
8z_vu—wm{<1 w>a2.M6h w}+ - (3.49)

O000000 wey =kavV1-M20000K00000000000y000D00 dw, 00

uo
2

SK = iky—3S — vow, (3.50)
v
000000000000 00000000000000000000000
958w
2 258 3.51
9. v (3:51)

goog

O000ésKOO0ODOOCOO0O0O0ODOODO0O0KODOODOOOOOOOEuWerd 00O 20
000, 000000000000

2
— iUy + vowy + ikpdf — ik —0S =0 (3.52)
v

0ooooo
SK = ikySf — iwdv, (3.53)
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O0o0oo0ooooooon 95/ 1 86K 95
w 00y
0z :% 0z +k7x 0z (3.54)

gooooooogog

Odvy .
dwy = 5 ikyov (3.55)
gooooboboboon Py | 96K
f_1 + ic?wy + iwdv (3.56)

0z ik, 0z ky
gooogogan (BZE)DDDDDDD

2
OF _ s +i%Tss (3.57)
0z vy

00000000000 Bx0)0o0o0oéSOOOOOO

B  w w .
gooooodgod
0 iw
(82 v)d 0 (3.59)

O0/KDOODDOOODOODODOODOO KO Lagrange 000 000000000 O0O0OO6K O
gbooobobooboobbooboobbooboobbooboobooboooboon
Oob0Oéf00orOéSODOOOODODOOODDOOOOOOODOOOOODOOOODOOOOO 2,0
00000000000 z+ACOC0DOO0D0OO0000000O0O0D AvODODDOOAv=—iwA(
OU0O0DO00b0O00000 Rankine-Hugoniot U0 OOO0D0OOOOOOO

p1(vi — Av) = (psh + 6psh) (Vsh + dvgn — Av) (3.60)
a2 agy + dagpy)?
pr(n = B0)* + p1=h = (o Fpan) (v + S = B0) + (pa + )\ 0%0)" 5 6
(v1 — Av)? a% (ven + 6vgy — Av)2 (agy + dagy)?
= .62
5 + po— 5 + po— (3.62)

gOoO0bOO0o0bODOOoO0ob0OO0 10shboOO0O0oOoOoO0O0oDOOO0O0ODOOOOOOOobDbOOUOOo
000000 2z, +ACO0OD0O0OCDOO0O00 2z, 00000000000 TaylorOOOOODO

0 0
o101kt — (pun — p1)AV = Ac{azwn—az(m)sh} (3.63)

2 a?
v2,0psh + 2pshVshOVsh + ;Pshash&lsh + 5Pshﬁh

B 0 9 a? 0 9 a?
= A( {82 (,ov + p7)1 T 9 (P’U + P7>Sh} (3.64)

0 [ v? a? 0 [ v? a?
5fsh—(vsh—v1)Av=A<{az <2 + 7_1> —62<2+7_1> } (3.65)
1 sh

000000000 (839000 B63) 00000000000 (320)000 (B65) 00000
000 d9/9-0000000000000000000000 (B&@O00000000 —pd®/dz
000000000000 p000000000000000000000000000000
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1 1 1 1
Ohsy = ( - ) Av = —iw ( - ) A( (3.66)
Ush U1 Ush U1
A 2 oA 2
0% _ J%U<Lf%>:“w;<o_%ﬂ (3.67)
v Ogh U1 Ogp v1
0fsn = (vsn —v1)Av = —iw(vg, — v1)AC (3.68)

goooooooooooooo
000K ODOOOO00ODOOO0000O0O000D :200000D0D0D0000D000000O0OO
oboooobooboonoboobbo . 00b00b0o0onooDo

0A )
dvgsh = (v1 — Ush)T; = ikz(v1 — ven) A (3.69)

OO00DO0OO00O0OO00éKOODDOOODDOO

5Ksh = ik:xdfsh — iwdvmh =0 (3.70)

00000 B9 000000000é/KODODO0ODO 0000000000000 0oooooo
godg

ky a?
= .77 . 1
dw, i 5 6S (3.71)
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0000000000000000000000000000000000000000F,.0 F,
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00 foux 00000000 Fuao 00000000000000000000000000

Epux(n,z,T) = Z % + {a + 4bx(1 — z)}n® + en!T? — znA (4.41)
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O00Q0«O0OcO0d000DODO0OCOO0O00O0ODODOODOO0O0O0OODODOODOOOOOOOD
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2.2 2\ 1/3
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T 16 4+ ¢q )
ivT = Sh MeV /£ 453
O'(IL‘ ) g <TC($1)> mi_3+q+ (1 _.Ti)_?’ e /m ( )
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1- T T< Tc i
W/ (T(T)> - { () } < Tel=) (4.54)
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(1 —u)D(u)'/? +uD(1 — u)/?
u? + (1 —u)2 + 0.6u2(1 — u)?
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00D0000D00000000 s(u) =u(l—w) 00000
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